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Name: __________________________________



1
Given [image: image1.png]X+ -2



, the expression [image: image2.png]2+ 5x48
12



 is equivalent to

	1)
	[image: image3.png]




	2)
	[image: image4.png]7
]





	3)
	[image: image5.png]]
el





	4)
	[image: image6.png]






2
The expression [image: image7.png]22 rxe6
12



 is equivalent to

	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]2%+ X4 6





	4)
	[image: image11.png]4
el 2







3
Given [image: image12.png]X+ -3



, which expression is equivalent to [image: image13.png]2+ 32 —4xe 5
43



?

	1)
	[image: image14.png]2% + 9x2 4 23x+ 74





	2)
	[image: image15.png]




	3)
	[image: image16.png]2% — 3x2 + 5x— 10





	4)
	[image: image17.png]204 94 B4
3







4
Given [image: image18.png]X+ -3



, the expression [image: image19.png]2+ 7 - 3x- 25
13



 is equivalent to

	1)
	[image: image20.png]R e





	2)
	[image: image21.png]o v a3+ 2





	3)
	[image: image22.png]2x2 + x- 13





	4)
	[image: image23.png]P ordr- 154 20
73







5
Which expression is equivalent to [image: image24.png]2t 82 - 252 - Gxe 14
16



?

	1)
	[image: image25.png]2 s - 124
76





	2)
	[image: image26.png]2% —a4x? - x+ 14





	3)
	[image: image27.png]




	4)
	[image: image28.png]2%
—a4x?








6
Which expression is equivalent to [image: image29.png]


?

	1)
	[image: image30.png]




	2)
	[image: image31.png]X+ 2 b






	3)
	[image: image32.png]




	4)
	[image: image33.png]






7
The expression [image: image34.png]55+ dxs 14
T2



 is equivalent to

	1)
	[image: image35.png]2
]





	2)
	[image: image36.png]




	3)
	[image: image37.png]P2 - re 24 L
T+2





	4)
	[image: image38.png]R
T+2







8
The rational expression [image: image39.png]P S
=3



 is equivalent to

	1)
	[image: image40.png]2w - sm-12- 2





	2)
	[image: image41.png]2 + b +13x+42+ﬂ





	3)
	[image: image42.png]




	4)
	[image: image43.png]2 6’ 4 13x— zmﬂ







9
What is the quotient when [image: image44.png]10x% - 3x% - 7x+ 3



 is divided by [image: image45.png]2x—1



?

	1)
	[image: image46.png]5x2 4 x4 3





	2)
	[image: image47.png]5x2 — x4 3





	3)
	[image: image48.png]5x2 — x—3





	4)
	[image: image49.png]5x2 4+ x— 3







10
The expression [image: image50.png]62 + 172 + 10x+ 2
e



 equals

	1)
	[image: image51.png]e

=43





	2)
	[image: image52.png]o’ + 8x- 2+

=43





	3)
	[image: image53.png]37
43






	4)
	[image: image54.png]






11
The expression [image: image55.png]


 is equivalent to

	1)
	[image: image56.png]- 1-

el





	2)
	[image: image57.png]-1+

el





	3)
	[image: image58.png]




	4)
	[image: image59.png]B+








12
Which expression is equivalent to [image: image60.png]%+ 2x-7
Txrd



?

	1)
	[image: image61.png]




	2)
	[image: image62.png]




	3)
	[image: image63.png]P2 54

13
T+ 4





	4)
	[image: image64.png]234

=+ 4







13
Which expression is equivalent to [image: image65.png]42 +9x- 5
1



, where [image: image66.png])



?

	1)
	[image: image67.png]2%+ x4 5





	2)
	[image: image68.png]a1
BT T





	3)
	[image: image69.png]2% — x4 5





	4)
	[image: image70.png]2 - x4 b








14
The expression [image: image71.png]42 + 57+ 10
Txt 3



 is equivalent to

	1)
	[image: image72.png]31

2,3
S e






	2)
	[image: image73.png]1

2 _
e






	3)
	[image: image74.png]2+ 25x4 5

15
43





	4)
	[image: image75.png]20

25 spo5-
R e








15
Given [image: image76.png]Ax) = 3% +7x- 20



 and [image: image77.png]


, state the quotient and remainder of [image: image78.png]=)
g(x)



, in the form [image: image79.png]09+ 25



.

16
Determine the quotient and remainder when [image: image80.png](6a° + 11a” - 4a - 9)



 is divided by [image: image81.png]


.  Express your answer in the form [image: image82.png]via)+ 7D
@



.

17
Given [image: image83.png]Ax) =32 —4x" + 2x




 and [image: image84.png]


, state the quotient and remainder of [image: image85.png]=)
g(x)



, in the form [image: image86.png]09+ 25



.  Is [image: image87.png]


 a root of [image: image88.png]


?  Explain your answer.

18
Given [image: image89.png]a(x) = x* + 22 + 4x - 10



 and [image: image90.png]b(x)=x+12



, determine [image: image91.png]a(z)
B(x)



 in the form [image: image92.png]() + 503
)



.  Is [image: image93.png]


 a factor of [image: image94.png](x)



?  Explain.

19
When the function [image: image95.png]pi(x)



 is divided by [image: image96.png]


 the quotient is [image: image97.png]


.  State [image: image98.png]pi(x)



 in standard form.

1
ANS:
3

[image: image99.png]x+1

x+2 )22t 4 5x4 8
2 4 dx

x+8

x+2




REF:
012007aii

2
ANS:
2

[image: image100.png]2 xe
<
0x*+x
[
246

242




REF:
081611aii

3
ANS:
2

[image: image101.png]



REF:
082302aii

4
ANS:
1

[image: image102.png]



REF:
062203aii

5
ANS:
3

[image: image103.png]



REF:
081805aii

6
ANS:
2

[image: image104.png]



REF:
082217aii

7
ANS:
1

[image: image105.png]P-2-x46

r+2
paly s

-2 - 55

Pt e

—xlvax

6x+ 14

6x+12




REF:
012305aii

8
ANS:
2

[image: image106.png]2%+ 65+ 135+ 42
x-3)2xt + 027 - 520 4 3x- 2
' -6
6x° - 5

St

IS
132+ 3x
132 - 30x
42-2
42x- 126

124




REF:
012408aii

9
ANS:
4

[image: image107.png]



REF:
011809aii

10
ANS:
1

[image: image108.png]3x? +4x—1

2x+3)6x" +17x* +10x +2

8x> +10x

8x> +12x
—2x+2
_m2x-3
5




REF:
fall1503aii

11
ANS:
1

[image: image109.png]



REF:
081910aii

12
ANS:
1

[image: image110.png]2 -2xes
24| 22+ 02 4 227
2+ 4o
—axt s
4’ —8x
10x-7
10x+ 20




REF:
062313aii

13
ANS:
1

[image: image111.png]2+ x5

2142 + 02 4 925

42’ = 2x?

2+ ox
2

ES
10z-5
10x-5




REF:
081713aii

14
ANS:
2

[image: image112.png]2~ 3x+7

2543 ) 4x° + 02% + 5x+ 10

4x + 62
-t + 5%
—6x* ~9x

14z +10
14x+21
-1t




REF:
061614aii

15
ANS:


[image: image113.png]3x+13

x-2)] 3%+ Tx- 20

132-20
132-26




  [image: image114.png]e 134 —
=




REF:
011732aii

16
ANS:


[image: image115.png]2+ 5a+2

%a-2) 6> + 11a* - 4a-9




  [image: image116.png]2" +5a+2





REF:
061829aii

17
ANS:


[image: image117.png]3+ 82434




  [image: image118.png]3t +8x+34+£



  [image: image119.png]


 is not a root of [image: image120.png]


 because [image: image121.png]=)
g(x)



 has a remainder.
REF:
082235aii

18
ANS:


[image: image122.png]2 44

v+ 2|2t 22w dx- 10

paly s
=10
4x+8

18



  [image: image123.png]S ]



.  No, because there is a remainder.
REF:
011934aii

19
ANS:


[image: image124.png]p(x) =2~ 2+ Tx-T+5

FrTx-2

p(x) = x°




REF:
061930aii


